EARAZROREIERT — 2 N—XBISY —F 20165108178 (B) 7ELEFIH

m%@%ﬂ%ﬁ"é‘ C1N A 7% —f% ‘ Xzl 2 ‘ [EmAE] — | ¥ (&) 15000 &
[x&<£] 1 %:1,100,000 @ ~ 2 3#%&:330,000 M ~ 337%&:187,000 @ ~ 4 3% :143,000 @ ~ 5 3 :110,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. ABIES . —1-1- - NNBE— (#8)
1 Ov4F/hHv%x 4t 4 o 1.(3_6).1 1-1-1-1 38.9 2 (4_684) et ]
R:x>vvH/xt% B:Ov AED— i ZE AN
oo g N 5 )3 :36. 00— . = 1R (M1E)
5 Ry A RILY 4 3 el 1(33?)7 2-2-2-2 | 39.4 9 (4_615) i
291 T v F—F7—K—K B:XHTN BEH #%8
sew . AlGER :36. -4-5- . - KHHE (E)
3 1TFIYE o4 BB 1(73?:§3 4-4-5-4 | 39.1 1 <4+8g) E i
:¥xrinq4o— B:a3-F1>7 Estrvae]
= i S i 4 | BELS 1:37.2 5-5-4-3 [39.6| — 5 430 | AREKLE G
4 /7—{ F4—d—JLR 54.0 @) +9) (%) MTZRIBE
LZAFAI—ILK B: 7Y ex0-7> PN Yie]
N # o3 | HARE 1:37.5 6-6-6-5 |39.4| — 12 | 454 |/ANERXR GEFN)
5 tHhRITES 56.0 (11/2) (+6) TéEPKEK
R:T7yv3Is—L BT+ MNITT4— sl 1
# o4 | BmES 1:38.0 7-7-7-6 | 39.9| — | 3 | 407 |FEEEE (A4
6(8[12| N—TFFAN 56.0 2 172) RES
RFFHRFFLT B R—T LT b N — T 45
o I -11-10- — aARE (111E)
7 2| 2= se—0— 4 3 i 1.(318>.2 11-11-10-10| 38.5 8 <5+173) g;ﬁ%
L:d—IWRT7Y2—b B:1HRXYISVT fre s eV e ]
2 (989 = — b — 4 5 | PHEE 1:38.4 9-9-9-9 [39.3| — 10 488 | HAIETE (AfS)
gl5/6|*y Kya—2 6.0 & (o |BHAE
XL ThANAN BEHIEA Eal=ckies]
o REME :38. -8-8- . — FLES (GEf)
9179 N K>ty b 4 4 Tk 1(738t;1 8-8-8-8 | 39.7 4 (‘174?) %,ﬁﬂ]E
RN=V754 B:AIte>XFN— ks
. > 4 | EIIFRE 1:38.7 3-3-3-7 |41.3| — 6 484 | MABEZ (JI1IE)
10811 EZ7 MK “7 | 5.0 (1172 o |PEEs
R:YIRGT4TFR B:5>TFHR Yriva LB
. AR 5 : —12-11- — HEEEX (MHE)
1l5|5| V> 7RXT)XZIL s 54.0 (,?2.)7 12-12-11-11) 38.9 ! ;‘_244) g/ﬁ:f
Z:d—IKT7Ya—b B:TF 1IN ESEkae]
" S on e i) :38. -10-12- . - JIFPE GaFn)
1olzliol v 2151 0 b o4 o 1(318)9 10-10-12-12| 39.3 10 <4+571) Egg
T4 =TA2N7 8 BT INZ— FriL4sis
® I —F—EBIERL
13=zr= 3,2,11,1,8,4,12,9,6,10,7,5
Aol=5r= 3,2,11,1,8,4,12,9,6,10,7,5
G§a=7r= 3,2,11,8,1,4,12,9,6,7,5,10
43—+ — 3,2,8,1,4,12,11,9,6,7,5,10
[ RN
B OB 3 540M 714K 2-3 2,010 e & 2-3 10,570 &R 1-2-3 4,450
7 B 8 150 1-3 220M | | B B 3-2 12,680M | | 3:EE 3-2-1 48,640
2 590M 1-2 1,010 B E 2-3 11,900M
1 110 B H 3-2 14,890M

ABICOVWTRDTEEERROODE. TR LIV,




